
DE
UK
FR
IT
ES
NL
SV
PL

: Installationsanleitung
: Installation Instruction
: Instruction d'installation
: Istruzioni di installazione
: Instrucciones de instalación
: Installatie-instructies
: Installationsanvisningar
: Instrukcje instalacji

N620P236475
N620P236476













7

1
M6x30 MM

2 3 4

BOLT
M6x40 MM

BOLT
M6x60 MM

BOLT BOLT
M6x15 MM



�

$

$%

%

&

&

'

'

(

(

(

(

)

)

*

+

+

,
,

-

-

.

.

0

/

%

%



�

$�[�� %�[�� &�[��

'�[�� (�[�� )�[��

*�[�� +�[�� ,�[��

-�[�� .�[�� /�[��

0�[��



��

1 x 56 2 x 24 3 x 22

4 x 10 5 x 66 6 x 6

7 x 6 8 x 4 9 x 2

10 x 2 11 x 1

M6x15 mm M6x40 mm

M6x60 mm M6x16x1 mm M6

M6x30 mm

12 x 2

13 x 4 14 x 8

M6x16x10 mm



��

Hardware

A x 2 B x 4

L x 2 K x 2

C x 2 D x 2 F x 2

E x 4 G x 1 H x 2

J x 8

I x 2 M x 1

N620P236475

N620P236476



STEP 1

50%
10

12

STEP 2

50%
10

A

4

5

5 6

M6x60mm M6x16x1mm

4   x 2 5   x 4 6   x 2

M6

C

C

5
3

M6x40mm M6x16x1mm

3   x 4 5   x 4

50%
11

A

M6x30mm

2



STEP 3

13

STEP 4

50%
10

M6x40mm M6x16x1mm

3   x 8 5   x 8

D

D

3

35

5

X4

I

I

50%
10

51

I

X4

M6x15mm M6x16x1mm

1   x 4 5   x 4

2

M6x30mm



STEP 5

14

STEP 6

50%
10

50%
10

M6x16x1mm

����[��

-

-

-

-

-

M6x60mm

����[��

M6x15mm M6x16x1mm

����[�� ����[��

-

�

�

;�

4
;� �



STEP 7

15

STEP 8

M6x30mm

2   x 20 7   x 6

100%
10

7

7
7

7

7
7

8

8
8

8

8
2 2

X4

7

2 2

X68   x 4

5   x 4 9   x 2

M6x15mm M6x16x1mm

1   x 4

9

9

1
5

5
1

3

M6x40mm

9



STEP 9

16

STEP 10

M6x30mm M6x16x1mm

2   x 4 5   x 8 12  x 2

100%
10

100%
10

12

12

100%
11

6   x 4

M6

2

5
56

13

13  x 4

M6x16x10mm

2
5

5

6

13

12

12

3

M6x40mm

X2

X2



STEP 11

17

STEP 12

100%
10

100%
10

M6x15mm

����[��� ����[��

%

%

��

��

�� � �

�
�

M6x15mm

����[��� ����[��

�� � �

�
�

%

%

��

��

;�

;�



67(3���

��
0�[��PP 0�[��[�PP

����[�� ����[��

(

(

(

(

� �

� �

(

����
��

;�

M6x30mm

2



STEP 14

19

100%
10

M6x16x1mm

����[��

M6x15mm

����[��

)

)

�

�

;�



STEP 15

20

100%
10

M6x16x1mm

����[��

M6x15mm

����[��

+

+

�
�

;�

+



67(3���

��
0�[��PP 0�[��[�PP

����[�� ����[��

*

*

�
�

����
��

M6x30mm

2



67(3���

��

.

%

;�

���

/

/

.

.



STEP 18

23

M

X10
FINALIZADO/AFGEROND/FÄRDIG/GOTOWY
FERTIG/FINISHED/TERMINÉ/FINITO/


	Sheets and Views
	Layout1

	Sheets and Views
	Layout1

	Sheets and Views
	Layout1

	Sheets and Views
	Layout1

	Sheets and Views
	Layout1

	Sheets and Views
	Layout1

	Sheets and Views
	Layout1

	Sheets and Views
	Layout1

	Sheets and Views
	Layout1

	Sheets and Views
	Layout1

	Sheets and Views
	Layout1

	Sheets and Views
	Layout1

	Sheets and Views
	Layout1

	Sheets and Views
	Layout1

	Sheets and Views
	Layout1

	Sheets and Views
	Layout1

	Sheets and Views
	Layout1

	Sheets and Views
	Layout1

	Sheets and Views
	Layout1

	Sheets and Views
	Layout1

	Sheets and Views
	Layout1

	Sheets and Views
	Layout1

	Sheets and Views
	Layout1

	Sheets and Views
	Layout1

	Sheets and Views
	Layout1

	Sheets and Views
	Layout1

	Sheets and Views
	Layout1

	Sheets and Views
	Layout1

	Sheets and Views
	Layout1

	Sheets and Views
	Layout1

	Sheets and Views
	Layout1

	Sheets and Views
	Layout1


